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Dip. in Engg. (Third Semester)
EXAMINATION, Apnl—May, 2024
(Scheme : NITTTR) ;
(Branch : CSE,IT)
OPERATING SYSTEM WITH LINUX

Time : Three Hours] [ Maximum Mar]cs 70
F [Minimum Pass Marks : 25

Note : All qu¢stions are compulsory. Internal choices are
~given. In case of any doubt or- dispute, English
version questionshould be treated as final.
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1. (a) Explain the need of operating system in detail. 5
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(b) Explain Multitasking O?ja:m System and R,
Time Operating System. 5
TedieRar aRfer Rmen @ Raw Ty
it Rives o WY

Or
Explain the operating system services.
JiST Rieeq ot ﬂm@a ol aﬂmﬂ; -

23, (@) Explain the process states of operating system

- with process state diagram. Explain the first come-

first served (FCFS) CPU scheduling 2_5

example. 3s
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Or

(oreran) -
Consider the wo:of:m set

of 6
arrival time and burst time Processeg whose

are given below - - 3
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If CPU

[31]
Process id Arrival Time | BurstTime

P 0 7

P, 1 5

P, 2 3

Py 3 1

Ps 4 2
. Ps -5 |
O AR R WS

scheduling policy is Shortest Remaining
~ Time First (SRTF), ow_oc_mﬁ the average waiting

ot T € TR A T E __
Process id | Arrival time Burst time
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(b) Define Uom&o&a Explain how gﬂao

(@
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@

allocation graph can be Emm for deadloq,

avoidance. 2,6
: 3
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Explain the oon,onE of segmentation in %B_:. 6
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Explain the fixed vm_&mo.:mm. and’ variable

partitioned memory -allocation - technique SE. .

suitable examples.
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(srera)

m - - . )
noMM“HD Thrashing. Explain the LRU (Least
cently used) page replacement algorithm wi
suitable example. ‘ . s
3,5
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Explain the diffe .
; rent directo
Iy structures in detai
. ey etail.
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(i) E_o attributes and operations

(i) %@.ﬁﬁ@%&m&wﬂmﬂ@ﬂ
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.Or
(areren)

Write short notes on the following :
4

(i) File system security and protection
mechanism
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Sts

queue where order of IO reque
6

Consider a disk

82, 170, 43, 140, 24, 16, 190

The read/write head is initially at cylinder number
50. Cylinders are numbered from 0 to 199. Using
the shortest seek time first (SSTF) disk
scheduling, *calculate the total head movements
(in number of cylinders).
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82, 170, 43, 140, 24, 16, 190.
Read/writc head UR®I-H Rctey AR 50 W T
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(@) Define Vi waﬁo._.. mu%—m_s 90 Q—m.mnon; Input mode 171 2022371(022)

commands in Vi with proper examples. 2’ |
: oA frfafad Linux command 3l
Vi editor @I &mﬁ..._wm AN Vi R Ry " s TRy (@18

ﬁﬁ%%ﬂ%ﬁ@sagﬂ

| | s @ . o
v : S IR P . ,:, (i) rmdir )
, rE) iy split

Explain the Linux &aaa maB_Em:m:on and :mJ M Gv) diff
qowvgm_c_::om. . i : _. ! ot .
R WZNA_ L dﬁmﬂ : . Aé. head
vl b e el

(b) Explain the following. r:.:x 8:5&:% (any | gl (if)zsort v
e e fikda e S w9 (viii) tee
O - e Mg T S Chown 3 e ;
(ii)  rmdir re e R DL £his: s bl
@if) ~ split Vi R ke ;@. cat |
@) diff AT 1 o , .
(v) head RS L w.
(vi) grep - o ity e B , L ;
Gy ot e e % , w v :
(vii) tee - . Vi R i .

-(ix) -chown

(x) cat
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Dip. in Engg. (Third Seméster) |
EXANIINATION Apl‘ll-May, 2024

(Scheme NITTTR)

(Branch : CSE)
- SCRIPTING LANGUAGE (PYTHON)

Time : Three Hdurs] S u e [Matiinum MarksA 70
[Minimum Pass Marks : 25

Note : Attempt any two questlons from each Unit. Every :
- question has 7 marks. In case of any doubt or

dispute the English version question should be
treated as final.
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S uNIT—I
A,__ (c) Differentiate between Break and Continue

@) .
statements. . 7

I (a) Explain working mode of Python with Suitap], _u, Break @l Continue statements P 9 FR W

example. | ? 7 . AR |
e amad b T) it i (g@ré—m)
- WW%.N“MMMM”EMW& Q_vo : N,EQ A_mavwfoanm E (a)* Develop a program in Python to sort the element
S 7 of two different lists and store sorted elements in
T WAfST # variable, data type qop third list. 7
wnw.Soam I gusIEy | ‘ 2 -3l lists JF SUD elements B sort
£5-09 TN RT LIS B N Py = sorted elements Bl .&.ﬁw list ¥ store
(3rera) ; i ,ﬁwmw@.awﬁrosﬂﬂ_ﬁ@@f
(c) mx.u._wmn &m.oaa, input and _ | - (b) Differentiate between list and Tuple in Python. 7
available in Python, output ~methods ~  uyreM H List @& Tuple $ 99 Fax W<
IR 4 Sy Rift mﬂ_mm - | 7 BT | | ;
@ T ﬂ.@f . m:dm.m.m § " (©) Define Dictionary. Explain how to create, access,
: : 4] update and delete elements to a dictionary. 7

Dictionary | ﬂwﬁq@ﬂ PIfSTU | Dictionary q
create @<, elements @ access, update AT

2. (@ Wri ST
:Hm program to finq the delete Ll Eﬂﬂ W HHHIRS |
UNIT—IV

>§M~H.°= T Y -ia
b) “Exnla: P Ry o &
(b) “Explain while o8 _ﬂw_d Pipe @.Ew.n: , (gPrE—IV)
example, P and for Joop vt : : . .
i P with syntax and 4. (a) Write your own function ¢Si’ to find the simple
, 7

Whil : .

il e loop oy g, loop 3} 7 . interest. ;

el il Wi, Y T ey T function ‘Si” TGIY, R AR @ S
: , e o forg s fRa |
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(b) Define module. Explain import and from_ Mody),
with suitable example. 7 3
Module @1 gRTd BT | Import T from

. rlioduleﬁWﬁWQWI

() Define exception. How to handle cxce.ption }xsing
try, catch and finally ? Explain with suitable
example. = | ' . 7
Exception &l GRWifd I | Try, Catch T
finally ¥ exception ® $W handle HaT S]]

[4]

5. (@ Define GUI. -Write‘ advahtagés' and basic"
components of GUl, . Y, h 7
Gmﬁtrﬁmﬁaa%’rmlema%maméfﬁzﬁ
I fafg) i

(b) Explain tkMessageBox module
tkMessageBox module

TS |

(¢) Explain pack( ), frame( ) and o \
management method yjg, emmplegl‘l(l ) layoyt A

Pack('), frame( ) oy grid( ) | ’

with CXample, 7
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Dip. in Engg. (Third.S_emester) S »:
EXAMINATION, April-May, 2024
(Schémé : NITTTR)
(Branch: :'CS‘E, IT)
DIGITAL ELECTRONICS

Time : Three Hours ] [Maxlmum Marks : 70

: [Mmzmum Pass Maz ks : 25
Note : Attempt all qucstlons Intemal ch01ce are given. In

case of any doubt or dlspute the English version
question should be treated as final.

G4 gt B gl IR | AiaRe Ree Y W e
foody o ypR & wWew o g & Rafy F sish
w?maﬁmﬁnwaﬁml

‘1. Perform the following conversion (any five) : 5x2=10

(i) (1101.101)7 = (correerrenento

P.T.O.
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(ii) (615)g= (onererree™ )16
(iii) @5.5)0= (o)
Gv) (22.6H10= (........‘..')16
) . (10111011)2—(....._. ...... )amycodg
(vi) (9520~ (oeveneees ) Ex-3code
(vii) (10101. 11 )orag code = (ooreeieere-IBIRAY
Ryt @t uRaRia W (@ ia) :
@) (1101 101) = Coonreres )10
() (615)5= (orrrreiohté |
(i) (25.5)10= (orriome2
(v) (22.64)10= (........‘.‘.?)116 |
() (10111011 = (et )ormy code
(VD) ©O5D10= Coorr) Brsete
(i) (10101.11)6ray code = (orrrner. oo

Or

o

Perform the following operation -
(i) Add(10111); and (1 1001),

(i) Multiply (1001) by (1 101)
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(iii) - Subtract using 1’s complement method
(11010); - (10000),

(iv) BCD addition (113)10 *+ (101)10

(v) Subtract (52)10 — (89)10 using 9’s complement
method

() Add (10111); and (11001);

(i) Multiply. (1001) by (1101)

- (iii) Subtract using I's complement method
(11010)2—(10000)2 : '

(1v) BCD addltlon (1 13)10 + (101)10

(v) Subtract (52)10 — (89)10 usmg 9’s complement
method '

2. Draw symbol and truth table of NAND, NOR, EX-OR
and EX-NOR gates. Shainck. a0 A g

NAND, NOR, EX-OR Ud EX-NOR ex7 &7 Riger v
Al AR §915Y | |

|
3. Minimize the following function using K-map: =~ 7

F(A,B,C,D)=Xm(0,1,2,3,5,7,8,9, 11)

P.T.O.
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PR : . AND gate with truth table < 5 o
gl €
F(A,B,C,D)=Xm(0,1,2,3,5,7,8,9,11) @ Gl R -5 flip-fHop
ﬂmﬁu a % owocfmb
or . e D ag& |
AND
(erra) A i) .
in Six fvne Ll e 5150) shift M
Explain six types of Boolean laws. . IS 1al in serial out { 1 \
4 . ; T \
¥ YPK & Boolean laws @l ./ﬂ_ﬂmd_ | mwﬁ.&s the workin® e i
__ 4 _daﬂﬂ 7 \
. \ \
4.. Explain full adder using 2 half adder ‘with :.:5 SEO registel- SEIN e " \
and block diagram. : 3 & [iad AR \
i) IR U9 i S’UM & ERT 2 rm_wm&on BT : _ .ﬂ%ﬁ |
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9. - Explain R-2R lader type digital to analong Q%Ven

w;th neat diagram.
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Explam successnve approx1mat10n analog to dlgltal

converter

Successive: approx1mat10n QﬂTﬂT‘T '\’? I%T%FEW Eﬁ;ﬂé_\’
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